-

o
=
o

7000 GeV pp Jets

Jet P, (NSD, 1.5< |y| < 2.0)

d°c/dp_dy [pb/GeV]

Ratio to CMS

T
e
o

o

\ IIIIIWI IIIIIHYI IIIIIW[

~

[EEY

0.5

IIIIIlIJI |||||u|| LLIL
> 5.4M events

Rivet 3.1.0,

= =<
(4p]
= =<
= = m
— —w©
= =3
= =hy
=
= m CMS 5%
=- --i3-- Herwig 7.2.0 default =
= —a— Pythia 8.186 default 32
= ¢ Sherpa 1.2.3 default " S0
= =42
— = )
(- O
= | | | Lo | [ |? =
: T T T T T T T T | T T T T J:
— =2
Ny =\ i
= 1 I |
|___| = \ I 1
[ 40y kS ' |
’ " ..... -‘ ’ ’ ’ H 1
1 ! §= i % % 1
u R |
= ' 0.5
1 1 1 1 1 1 1 1 | 1 1 |




	Contents
	Page 1


